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QUESTION 1

What is a key consideration for using a loop in a test? 

A. be sure to preserve the test flow and logic 

B. select statements to be enclosed in the loop 

C. set parameters for pacing the loop 

D. calculate the correct number of loop iterations for the expected duration of the test 

Correct Answer: A 

 

QUESTION 2

Which statement is true about a reference to the last element in an HTML table? 

A. It will automatically overwrite any reference to previous elements in the same table. 

B. It can be created by selecting "Last occurrence" in the reference properties. 

C. It can be created by matching the last instance of the element tag with a regular expression. 

D. It can only be captured by writing custom code to count the table elements. 

Correct Answer: B 

 

QUESTION 3

Which statement is true about paced loops? 

A. They are used to pace the execution of steps in a test. 

B. They are the basis for running loops within schedules. 

C. They verify that information is being sent between the application under test and IBM Rational Performance Tester. 

D. They execute n iterations of an element per time segment. 

Correct Answer: D 

 

QUESTION 4

Which statement is true about a session ID or handle? 

A. It is always provided dynamically from a datapool. 

B. It is identified automatically as a datapool candidate, so the tester can optionally link it to a datapool. 
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C. It is usually generated dynamically in a custom code segment. 

D. It is usually correlated automatically to a reference in an earlier response. 

Correct Answer: D 

 

QUESTION 5

What are four options in customizing the appearance of a report graph in the Graphic Configuration window? (Choose
four.) 

A. graphic spans full width 

B. display run time 

C. draw thick lines 

D. use 3D bars 

E. font size 

F. type face 

Correct Answer: ABCD 
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